TAGLE OF LAPLA CL TRAN steeNS

F(s) = Z{f(n)} f(
1 1/s 1
2 1/s2 t
3 /s (n=1,2,---) 1" Y - 1)
4 1/Vs 1/ V7t
5 1/s3/2 2Vijw
6 /s (@a>0) 1T (a)
7 : P
s —a
8 ! te™
(s — a)?
9 ; (n -, 1 2 i ) 1 n—1 at
(s —a) o (n — 1)
1 1 k—1 at
10 (k> 0) ——— ¥ g
(s — a)f I'(k)
| |
1| — #b at _ bt
(s —a)s — b) (@ ) a—b(e )
2| —2—— @#b) (ae® — beb)
(s —a)s — b) a—b
1
13 — sin wt
52 + w? w
14 : cos wt
s2 S wz
15 ! L sinh at
s2 . a2 a
16 s cgsh at
52— a
17 : le‘" sinh wt
(s'= a)2 T -
s—a
18 e cos wt
(s — a)2 + ot
| |
19 5 5 —2(1 — Ccos wt)
s(s° + ®°) w
| 1 .
20 — (wt — sin wit)
s2(s2 + wz) P




Table of Laplace Transforms (continued)

F(s) = £{f(n)} f(0)
| |
21 e e —3(s1n w! — w! cos wt)
(5% + %) 2w
K 1
22 —_— — sin wt
(s2 + a)z)2 2w ¢
s2 1
23 "% . 2—(sin wt + w! cos wt)
(s + %) o
24 E (a2 Ea bz) (cos at — cos bt)
(s2 + d®)(s 2 + b?) b2 - a®
| | §
25 % ok —3(sm kt cos kt — cos kt sinh kt)
s° + 4k 4k
2% | ——— i il
st + akt 2k
1 1
27 2 2 —3(sinh kt — sin kr)
i 2k
s |
28 7 P —2(cosh kt — cos kt)
s —k 2k
1
29 Vs—a—Vs—b 3(ebt — %
2Vt
| a—>b
30 e—ta+br/2y (_,)
Vs +aVs+b 5 2
1
31 2.2 Jo(ar)
32 s L ety 4 2ar)
(s — a)®? VTt
k—1/2
1 vVt
33 2 — a®F (k> 0) Tk (Z) lyc—1/2(ar)
34 s u(t — a)
35 S 8(t — a)
1
36 ;e_k/s Jo(2Vki)
37 Le_k/s 1 cos 2Vkt
Vs \Vrt
k1 |
38 — sinh 2Vkt
§3/2 Tk
39 | V5 (k>0) ke

2V 3




Table of Laplace Transforms (continued)

F(s) = 2{f(®)} f@
1
40 §ln s —Int—1vy (y=0.5772)
§—a 1t at
41 In e =e")
s—b t
2 2
- 2
42 | m——2 21 = cos wi)
S2 t
2 2
43 | m>—=~ 2 0. — costiad)
S2 4
w 1 .
44 arctan — — sin wt
Ly I
45 —arccot § Si(7)
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